Maths
Wednesday 8t July
L.O. To use the 5 times-table

The S times-table

Jack has built some towers using cubes.

How many fowers has he built?
How many cubes are in each fower? 5

How many cubes has he used in total? 20
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Whitney has also been building towers
using cubes.
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How many towers has she built?
How many cubes are in each tfower?

How many cubes has she used in total?
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Whitney has also been building towers Dexter has also been building towers using

using cubes. Have a go cubes. Have a go

How many towers has she built? 3 How many towers has he built?
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How many cubes are in each tfower? 5 How many cubes are in each tower?

How many cubes has she used in total? |5 How many cubes has he used in total?
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Dexter has also been building fowers using

CUbeS. que qa go

How many towers has he built? 5

How many cubes are in each tower? 7

How many cubes has he used in total? 35
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What multiplication is represented
by each image?
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What multiplication is represented Have a go m
by each image?
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b) 5X 5 =25
C)% IX5=5
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5 Times Table Activities

Count in 5s and colour in the grid: Work out these answers:
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Amir and Alex have some money.
Amir and Alex have some money.

Here is Amir’s money. Here is Amir's money.

How much money do they have altogether?
20p + Hp = 34p
Altogether they have 34p.

How much money do they have altogether?



